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Performance Upliftment 
Assessment Test 2019 - 20 

Time: 8.45 – 10.00 
Max Marks: 25 M 

SECTION-I  

NOTE: (i) Answer all the questions.             (ii) Each question carries ½ mark. 6× ½ = 3 marks 

1. Who was the key person in formation of league of nation? 

2. Name the parliament of Japan. 

3. When was Nigeria became Independent? 

4. “Do or Die” slogan related to which movement? 

5. Who is the present chief election commissioner of India? 

6. Which of the following was not true in the context of second world war? 

A The industries of USA were highly damaged B.   The worst effected were the European countries 

SECTION –II  

NOTE: (i) Answer all the questions.             (ii) Each question carries 1 mark. 4×1=4 marks 

7. What was the immediate cause for the First World War? 

8. What is Napalm? 

9. Mention any two problems that arose after partition of India? 

10. What is concurrent list? Give example. 

SECTION –III  

 NOTE: (i) Answer all the questions.             (ii) Each question carries 2 mark. 3×2=6 marks 

11. Observe the following time line chart an answer the given questions. 

Beginning of the second world war 01-09-1939 

Germany Invades the USSR 22-06-1941 

The U.S.A joins second world war 08-12-1941 

Allied victory in Europe 08-05-1945 

 A What is special about December 8th, 1941? 

 B  Allied victory won in 1945. Which countries are there in Allies? 

12. Why were the railway and canals developed in Vietnam by the French? 

13. Why did the Indian soldiers join in India National Army? 

   SECTION –IV  3×4=12 marks 

 NOTE: (i) Answer all the questions. Each question carries 4 marks. There is internal choice for each question. 

14. A. Why the historian Eric Hobsbawn called the 20th century as “The age of extremes”?  (OR) 

 B. Write about the basic principles of our constitution. 

15. A. “Integration of various princely states in India was a challenging task? Is it true? Comment.  (OR) 

 B. “Unlike Vietnam or India, Nigeria did not have to struggle so hard for freedom” can you find explanation for 

this? 

16. Locate the following in the world map.  

 A.  1.Head quarter of UNO, 2.Nigeria, 3.Germany, 4.Carrabean Islands      (OR) 

 B.  1.Japan, 2.Roosevelt belonged to this country, 3.Aswan dam, 4.France 

   

 

 

 

 

 

 




   

 

-I
½     6× ½ = 3 
  
  
  
  
  
  


 –II

1     4×1=4 
  
  
  
  

 –III 
2    3×2=6 
  

 01-09-1939 

 22-06-1941 

 08-12-1941 

 08-05-1945 




  

  
 –III 

4 3×4=12 
    


 


  

  
   

 

 

 

 


